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Data:  c=ν(, E=hν, 1/(=-R(1/ni2-1/nf2), λ=h/mv,(x (
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h/4Π,  h = 6.626 x 10-34 J sec, c = 3.00 x 108 m/sec, NA = 6.02 x 1023 /mol, kw = 1.0 x 10-14 M2
1. (4 points) Write the complete electronic configuration for an atom of titanium.

2. (8 points) Write the shorthand electronic configurations for tungsten and zirconium.  Do you expect either of these elements to have an anomalous configuration?  Explain your predictions, and show any anomalous configurations you would predict should occur.

3. (4 points) What is the trend in ionization energies as you go across the periodic table to the right?  Explain the reason for this trend.

4. (4 points) Draw the lewis electron dot structure for PCl3.
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